Add It Up!

Solve each addition word problem. Show your work!
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Pipa went strawberry picking with
her sister. Pipa picked 56
strawberries. Her sister picked 38.
How many strawberries did they
pick in all2

56+38=94

They picked 94
strawberries.
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leah has a teddy bear collection
with 64 bears. Her aunt gave her
16 more bears to add to her
collection. How many bears does
leah have now?

64+16=80

Leah has 80 teddy
bears.
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Kira owns 42 different hair bows.
Her grandmother gave her 23
more for her birthday. How many
hair bows does Kira have now?
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42+23=65

Kira owns 65 hair
bows.
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John and his father went fishing.
John caught 17 fish. His father

caught 11. How many fish did
they catch in all?

17+11=28
They caught 28 fish.
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Dan gave his friend Chris 14 star
stickers. He also gave his friend
Jenna 20 star stickers. How many
star stickers did Dan give in all to

his friendse

14+20=34

Dan gave 34 star
stickers.
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Over the summer, Kenta read 8
mystery books, 10 science fiction
books, and 13 horror books.
How many books did Kenta read

in all over the summer?
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8+10+13=31 |

Kentaread 31 books.
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